Physics 200 Name: A,L%Wee

Practice Quiz — Newton’s Laws in 2 Dimensions

1. The 10kg mass is in static equilibrium. Find the tensions in the two segments of rope.
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2. Find the acceleration of the masses and the tension in the string.
- -
a= ﬂ/"\{S

W, 2> Cos 0 (¥ 4))= 951
Wy =St (s&w}-s;w/ 7+ 0..,(_
ZF= 9=l =F_ -
SF = 9an- 3780~ 4F)

SE= W= a,s(s'sy)
§F ///r/ _/5 2%

?;':f .a,f/a.n,)é"‘s’l"J
/4¢/ws/$ A ///V—SD

Ao Aace/em/ s Qa

=F=0.




3. The mass is suspended from the ceiling of a moving vehicle. The angle
shown is constant. Find the acceleration of the mass and the tension in the

string.
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4. Find the acceleration of the 8kg mass.
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